GOLFER Y

ThreeBond TPGA Challenge Tour (
ThreeBond ThreeBond HE; & o
WhBh : EE SRS W RIS F_Oa4RAR 109 %7 B3 H (E87F)
OUT & IN &
R ERED R1|+/-|[ @81 | =@ [ #& R1 | +/-
Group | Time | Tee % & Name Group | Time | Tee % & Name
R 74| 2 B = 74| 2
Be— 74| 2 FRE{R 74| 2
1 | 06:30 — 16 | 06:30
E BHA 74| 2 x5 74| 2
FRERE A 74| 2 $ExH 75| 3
=5 A 74| 2 R SR X 75] 3
- Frgrist 74| 2 HELA 75] 3
2 06:41 — 17 06:41
MRICER 74| 2 EAIL 75| 3
2= 74| 2 sRENRR 75| 3
[ Frbmy 74| 2 mia 75| 3
PEAE 73] 1 =a5E] 75] 3
3 06:52 — 18 06:52 =
EEim 73] 1 Ftim 75| 3
SRR 73] 1 FREF 75| 3
EEE 73] 1 R E 75| 3
BEES 73] 1 RE= 75| 3
4 | 07:03 . 19 | 07:03 —
REGE 73( 1 HES 76| 4
) REE 73] 1 L MEIE A 76| 4
SR I 73| 1 =i 76| 4
Fadr 73] 1 iR 76| 4
5 07:14 — 20 07:14 —
s PR BT 73] 1 ol 76| 4
=73l 73( 1 & 76| 4
B E 73] 1 M2 76| 4
sF1IAR 73| 1 CE=E 76| 4
6 | 07:25 — 21 | 07:25 ——
FhafE 73( 1 SrERE 76| 4
R 73| 1 REF 76| 4
Reg 2% Ei 73] 1 R 2815 76| 4
ReR {52 4 73] 1 TR 38 76| 4
7 | 07:36 — 22 | 07:36 T
FRR 72| E RIS 76| 4
ReR $28 2 72| E i % 76| 4
migiE 72| E =S 77| 5
BART 72| E RENE 771 5
8 07:47 —— 23 | 07:47
b 72| E B3R 77| 5
PRI tE 72| E SR 77| 5
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OUT & IN &
R ERED R1|+/-|[ @81 | =@ [ #& R1 | +/-
Group | Time | Tee % & Name Group | Time | Tee % & Name
pag:+dii]| 72| E FR{AZ= 77| 5
SR 72| E ’rEM 77| 5
9 07:58 — 24 07:58 —
aEE 72| E FEEA 78| 6
1 RN 72| E =g 78| 6
BSEA 72| E e B B 78] 6
@& 7%= 711 -1 YA 78| 6
10 08:09 — 25 08:09 —
TES 711 -1 FEZ 78| 6
STHE 711 -1 Mg 78| 6
=RiE 711 -1 I EE A 79| 7
=gt 711 -1 srElig A 79| 7
11 08:20 " 26 08:20 —
RR %3} 4 711 -1 HER 79| 7
) =HES 711 -1 L RIEDE 79| 7
Z=EE M 70| -2 MK EE 79| 7
R 70| -2 BHEF 79| 7
12 08:31 - 27 08:31
Mg 70| -2 M iE 79| 7
B2ER 70] -2 EiEH 79| 7
FEH 70] -2 MR 79| 7
pagie = 70| -2 SEHA 80| 8
13 | 08:42 — 28 | 08:42 ——
FRELHS A 70| -2 BEESY 80| 8
MoK EE 70| -2 sREH A 81| 9
EEH 69| -3 B % 81| 9
EER R 69| -3 Bk 84|12
14 | 08:53 - 29 | 08:53 —
=18 69| -3 HEE 85|13
H 28 69| -3
=EE 691 -3
f=op/res 68| -4
15 | 09:04 -
Z2EHK 67| -5
BRI 66| -6




